/

~
( Year 2 - 90 seconds )

BIG MATHS... %
*B EAT THAT!
4+9= 7xb= 6+7= 8+9= 4+7=
3xb= 7+8= 8xb= 9x10= 6x10=
Ox2= Bxb= 5+0= H+8= B+7=
6+9= 5x10= 2x2= 3+9= 4x5=
Oxb= 8x2= 4x10= 2x5= 6+8=
2x10= 7x10= 7+9= 7x2= 8x10=
6x2= 4x2= 3x2z= Bx2:= 6xb=
5+4= 3x10= | 3+8= 5+6= 4+8= @
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( Year 3 - 60 seconds )

BIG MATHS... %
roewatlll , BEAT THAT!

7x3= 2x4:= 3x3=
9x9= 7x9= 7x4=
8x4:= 3x4= 2x3=
9x3= Bx3= Ox4=
4x9= 8x9= 4x3=
6x9= 3x9= 6x4=
8x3= Bx4:= 6x3=
2x9= 4x4= 5x9= (::)
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Name: ( Year 4 - 60 seconds )
BIG MATHS... %
s 4 BEAT THAT!
MOorve WA,
\
5+5= 9+3= 8+8= 3+2= 8+7= 4+4=
7+3= 8x8= O+4:= 6x7= 6+bH= 7+7=
B+4:= 6+2= 7+2= 7+b= 8+b= 8+3=
O+2= 9+b= 6x6= 7x8= O+6= B+2=
8+6= 6x8= 7+4= 6+6= 2+2= 7+6=
4+2= 0+8= 7x7= 6+4= 8+4= 9+09=
B+3= 3+3= O+7= 8+2= 4+3= 6+3=




Name:

BIG MATHS...

w
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( Year 5 & 6 - 100 seconds )

My Bt That *BEAT THAT!
LOVe WEk,..

o sy
3+2= 6x2= 7+b= 8x2:= 8+3= 5+4= O+4:= 4x2=
7+4= 6+6= Ox7= 9+2= 7x2= B+b= 6x3= 6+4=
7x6= 4x3= 4+4-= 8x5= 8+2= 8+4= 9+6= 4x4-=
Ox9= 4+3= 0+3= 3x3= Bbx2= 6+2= 5xb= 8x6=
B+2= 5+3= 2+2= 8+b= 9xb= 9+b= 8+7= 6xb=
6+5= 7x7= Ox6= 6x6= 44+2= 7x5= 9+7= 9x3=
7x3= 7+6= 7+2= 3x2= 9+8= 6+3= Ox4= bx3=
8x4= 8x3= Ox8= 8x7= 8x8= T+7= Ox2= 6x4=
3+3= 7+3= 8+6= 8+8= 2x2= 9+9= Bx4= 7x4=

\_
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BIG MATHS
BEAT THAT?

! Double

Owne more Haga

3 (57 4 is

Half of 8 is...

Name:

How mang decks?

o 6

éél;




Write out the [8 + 6= 14] [
factor family

o

BIG MATHS
BEAT THAT!

Double
9is




Write out the {1 3+68=281 ] [
factor family

for: | ) )
BIG MATHS

BEAT THAT!

3.8
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"BIG MATHS [0 :
BEAT THAT!

35x28 =




"BIG MATHS
BEAT THAT!

619x77 =
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Level 6 Platinum

Challenge 1

/ Explain
I: why 36% is :I
P'A°PW[=(°'6 There is 3 30% sale . A : Y
Decrease \ 750m| o?::l;:; boy paid€léOfora | Pivide
72m b juice. How many camer3 in the sale. 180 i n ;
Y millilitres would What was the original | thanatis
35% be needed for 10 price of the camera> . theratio
Feepel 3:4:5






